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Pe e r  d a t a  s e t :  M a j o r i t y  A L  c o m m u n i t i e s 
n a t i o n w i d e  ( N =  3 ,9 2 9)
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D EC I L E

If  an AL community has a 
surrounding (5-mi ) median 
household income of $75 ,000, 
then it has higher income than 
between 70-80% of similar AL 
communities,  putting it  in the 
8th decile.

NOTE FOR ALL  
DECILE ANALYSES:
 Higher deciles ( 7-10) are  
always the most favorable
 Lower deciles (1-3) are always 
the least favorable
 Mid-range deciles (4-6) are 
considered mid-range

How does a community ’s surrounding median incomes stack up against those of its peers?

How Deciles Work


